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2.1 2.2 

___________________________________________________________________________ 
 

1 bod 

Úloha 2.1 

Vypočtěte 
 

25,6 ∶ 0,2 − 102 ∙ 0,029 = 

___________________________________________________________________________ 
 

Do záznamového archu přepište pouze výsledek. 
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2.1 2.2 

 𝟏𝟐𝟓, 𝟏 

___________________________________________________________________________ 
 

1 bod 

Úloha 2.1 

Vypočtěte 
 

25,6 ∶ 0,2 − 102 ∙ 0,029 = 

___________________________________________________________________________ 
 

Řešení 2.1 
 

25,6 ∶ 0,2 − 102 ∙ 0,029 = 
 

=
256

2
− 100 ∙ 0,029 = 128 − 2,9 = 𝟏𝟐𝟓, 𝟏 
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Do záznamového archu přepište pouze výsledek. 
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